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Lecture-08
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Hello and welcome to lecture 8 of the NPTEL MOOCsSs course on Economic Growth and
Development. We are continuing with the discussion on the strategies of various

economic development and growth models.
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Recapitulation of Lecture 7
1. Basic concepts: Who saves? Who invests? Marginal private costs, Marginal external costs, Marginal social costs,
externalities. external economies
2. Balanced growth doctrine as proposed by Ragnar Nurkse, Rosenstein Rodan and Arthur Lewis

3. Challenges posed by the Unbalanced growth strateglsts: major proponents being Albert Hirschman, Hans Singer,
Paul Streeten among others

4. Hirschman's thesis of creating imbalances in the economy through creation of convergent series of investments or
divergent series of investments

5. Following the path of development by creating excess capacities through social overhead capital or shortages by
investing in directly productive activities taken by the private firms.

6. Total linkages should determine the size and amount of investments: backward and forward linkages

In the last class, we looked at the model of balanced growth and the unbalanced growth.
The balanced growth strategy has mostly been forwarded as a doctrine, and the
challenges post to the balanced growth model in the form of unbalanced growth strategy
was also discussed in the last class. The last class was planned in such a manner that in
the beginning we started with discussion of a few basic concepts. We looked at who are
who saves? Who invest? We went into some conceptual clarity with regard to the

concept of savings and investment.

We also look that some of the basic concepts that are used in economics to be able to
understand growth models, such as the marginal private cost, marginal external cost and
the marginal social cost. And we also saw how they give rise to external economies or

and also externalities as we understand the in economics. After initiating some of the



basic concepts we look at the balanced growth doctrine proponents; in lecture 5, we had
gone into the details of Ragnar Nurkse contribution to balanced growth doctrine. In the
last lecture in lecture 6 we looked at in lecture 7 we looked at the contributions of

Rosenstein Rodan and Arthur Lewis.

We saw that Rosenstein Rodan had come up with a formulation of the balanced growth
model particularly in the context of eastern and south east European countries. He was
posing it as a problem of under development of these countries, which were completely
cut off from foreign investments. And he was looking at international division of labour,
and how complementarities in demanded and supply can be created for the large agrarian
labour force existing in the eastern and south eastern, southern eastern European
countries. We also look at the prepositions of Arthur Lewis in which he was talking about
balanced growth or balanced development between different sectors such as agriculture
manufacturing and the and the international trade sector, or the foreign as far as they

exports a concerned.

So, what we were basically trying to do is, a part of balance with doctrine was that we
saw that there are different forms of strategies that have been proposed as a part of this
doctrine. And there are lot of differences in the way these this doctrine has been
proposed; however, in the standard economic literature there all put together in the form
of balanced growth doctrine. A large part of last class was also devoted to the challenges
posed by the unbalanced growth strategies. And in the unbalanced growth model we
looked at mainly albert Hirschman contribution to the unbalanced growth strategy. All
though we in passing discuss that there are various proponents and sum of the 3 most
important proponents are Hirschman singer and Paul Streeten as well as Hirschman
thesis of unbalanced growth strategy is concerned, he was more for creating of
imbalances within the economy through creation of convergent series of investments or

divergent series of investments.

And his proposal was that convergent series of investment are something which are
largely taken by the private entities the private enterprises. The divergent series of
investments are taken up by the public agencies. And the question was to choose which
part of development will create a smooth process of economic development. And his

proposition was that this can be done by creating investments by through excess



capacities, by creating infrastructures like social overhead capital, or creating shortages

by investment in directly productive activities taken up by the private firms.

So, essentially what he was proposing was that if social overhead capital is created in the
beginning, then the private entities will be able to take advantage or appropriate the
economy is that are create economics of scale that are created by the social overhead
capital. And it will be easier for them to invest in directly reproductive activities and
hence create output for final consumption. However, if investments are first made on
directly productive activities by creating shortages of social overhead capital, then it will
be difficult for the private entities to carry on with investments, because they have to put
the pressure back political pressure back on the governments to be able to create social

overhead capital.

And the economic system works in such a manner that it is essentially difficult to carry
out investment in social overhead capital after creation of directly productive activities or
output through directive productive activities. So, the best way forward that was
proposed by professor Hirschman was to be able to ensure that there is massive
government investments in social overhead capital, which will then create more output
and the development path can then move on to directly productive activities, ultimately

leading to a growth of national income or gross national product.

After the proposition made by Hirschman with regard to investment in social overhead
capital we also look that Hirschman’s focus on carrying out investments in only those
industries which have the maximum linkages. So, he was talking about identifying
industries which have forward linkages and backward linkages. So, that simultaneous
investment can be carried out in various industries. So, it was important that we look at
the total linkages that are being created in the economy by adding of the backward

linkage linkages in the forward linkages.
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Models we will concern ourselves with

O Doctrine of Balanced Growth

O Concept of Unbalanced Growth
O Schumpeter's Analysis of Growth
O Rostow’s Stages of Growth

O Big Push Theory

Q  Critical Minimum Efforis Thesis

O Harrod-Domar Growth Model

Q Solow Growth Model

Now, today’s lecture we will focus on Schumpeter’s analysis of growth and Rostow’s
stages of growth theory. In the last class I had given you a snapshot or a timeline of
development thinking that has come to be since the late 19th century. And if you look at
the timeline of development thinking we can probably put Schumpeters analysis growth
in the category of development thinkers, that look that development as universal history.
And of course Rostow stages of growth is one of the most important structural models of

growth that have come to be.

So, in this class I will, this class is divided into 2 is planned in such a manner that I will
be focusing on 2 strategies of development or growth if you may like to call them. One is
Schumpeter’s analysis of growth, the second is Rostow stages of growth. And after
discussing the major characteristics of these 2 strategies of development I will again go
back to clarifying some of the basic concepts that are important to understand growth
models. And that are important to understand lectures in economics. Since, and this is for

the benefit of all students coming from different disciplines.
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Joseph Schumpeter
Joseph Alois Schumpeter was a political economist and lived between 1883-1950. He was an Austrian economist and
later settled in the USA. His major influences surrounded the following ideas:

Evelutionary economics
Histery of economic analysls
Business cycles
Keynesianism

Demise of capitalism
Entreprenaurship and

Innovations

Magnum opus: “The Theory of Economic Development: An Inquiry Into Profits, Capital, Credit, Interest and the Business
Cycle, 1911

Development as Universal History

Joseph Schumpeter was can be identified as a political economist and he lived between

1853 and 1950. He was an Austrian economist.

And later went into Harvard and settle in USA. His major influences surround the ideas
of what we today know is evolutionary economics. He is also written widely on the
history of economic analysis in the towards the later part of his career he was writing on
business cycles engaging a lot with Keynesian economics, and taking from Maxian study
on capitalism. He also had a great deal to say about the demise of capitalism; however,
the large part of his focus was on entrepreneurship and innovations. And some of you
who are conversant with some of the basic text books of microeconomics would know

that, we are introduced to; when we are introduced to the study of factors of production.

Thus, the most common example of fact is the production that are taken up are land,
labour and capital. And many of you would see that in the later years the term
organization also started getting added on to the fact the very basic fact is the production.
This term organization or entrepreneurial activities within the economy that is a crucial

factor of production is the contribution of professor Schumpeter to economic analysis.

Now, consider the situation that in the early 1960’s Ghana and South Korea were almost
at similar levels of development; however, South Korea the East Asian country went on
to become one of the most industrialized countries of the world. Whereas, Ghana

continue to be one of the most underdeveloped African countries. South Korea advanced



to such a great degree that it continue it ended up providing a developmental aid and
assistance to many African countries. Whereas, Ghana has gone through a series of
frustrating cools that has been economic stagnation and negligible participation in the
global trading system in spite of they having gold minds and world class cocoa

plantations.

So, these images basically talk to us about inequality existing in the world. Now if one
has to talk about economic transformation taking place or inequalities getting brazed, it
is not this is not a thesis which emerged most recently a professor Schumpeter can be
given the credit of talking about economic transformation well ahead of time. And the
seeds of rapid economic transformation, the ideas of rapid economic transformation he
brought out in his seminal work which in the form of a book which he which came out in
1911, title the theory of economic development an enquiry into profits capital credit

interest and business cycle.

So, in this book, this book was considered to be ground breaking. This in this book
Schumpeter outlined a very important role of innovation and entrepreneurship in
economic development. He was in fact, making a very bold attempt in departing from the
existing theories of economic equilibrium that dominated classical economics text of this
time. And Schumpeter’s work was appropriately called the theory of economic
development, because it described the world that is analogous to large parts of today’s

emerging countries.

In fact Schumpeter’s ideas on entrepreneurship and innovation have been largely
concerned in the context, has been largely talked about in the context of the emerging
countries. At first glance it would appear that the lack of application of Schumpeter’s
ideas to emerging countries was a historical oversight, given that most of them were
colonies at the time of his writing. However, these countries were desperately searching
for alternative development models that would free them from dependence on their
former colonial masters. Now, Schumpeter was writing during the ascendancy of new
classical economics. And that placed considerable emphasis new classical economics
placed considerable emphasis on mathematical equilibrium models and Schumpeter was

constantly rejecting them.



He tried to frame economic development as an as an evolutionary process. So, he was
laying the foundations of looking at economics as a very complex system. It is therefore,
not surprising that Schumpeter’s work has been consistently excluded from compilation
of studies on economic development. Although, it has seen reemergence in the 1990's
particularly with the coming in of the new growth theory and growth models were
innovations have been playing a very the knowledge economy the emergence of the,
knowledge economy in contributing to economic growth and not just human capital

formation.
Schumpeter’s all of course, it is written widely on this subject till his death in 1950.
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Schumpeter's Analysis

The four important features of Schumpeter's theory of economic development are:

1. Circular Flow (economic development is endogenous, driven by creation of new products, production processes,
organisational forms etc.)

2. Role of Entrepreneur {(change agent)
3. Cyclical Process or Business Cycle

4. End of Capitalism

But some of the most important things with regard to ideas with regard to Schumpeter’s
theory of economic development that are discussed are the following. The one is circular
flow, second is the role of entrepreneur or the role of entrepreneur as a change agent.
Third is the cyclical process or business cycle and 4th is end of capitalism. Schumpeter
taking from marks was also talking about the end of capitalism through the process of

what he liked to call is creative destruction.

Now, what is this complex system? The economy as a complex system the Schumpeter
was talking about. Schumpeter was mostly concerned with overall system transformation
in the same way that his critics wanted to see rapid economic change in emerging

countries. So, he pioneer the application of complex systems thinking to economic



development. And he was mostly concerned at looking at development or change over
time, which is why he adopted and evolutionary approach that recognize the importance

of history.
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Circular Flow

According te Schumpeler,
“The circular flow is a stream that is fed from the continually flowing springs of labour power and land and flow in every
economic period info the reservoir which we call income, in order to be transformed into satisfaction of wants®

The main features of circular flow are as under:
(@) All economic activities are essentially repetitive and follow a familiar routine course

(b) All the producers know the aggregate demand for goods and adjust the supply of oulput accordingly. This means
demand and supply are in equilibrium at each point of time.

{c) The economic system has the optimum level of output and its maximum use and there is no possibility of wastage of
Fesources.

{d) The firms working in a system are in a state of competitive equilibrium.

{e) Under the stationary equilibrium, the prices are equal 1o the average cost.

Now, in the so he his idea was that there is static equilibrium which the new classical
economics were also talking about, and what were the components what were the major
characteristics of this static equilibrium there is a circular flow that is taking place within

this model.

A first is that all there are there is there are economic activities taking place in the static
equilibrium model. And these economic activities are essentially repetitive, and they
follow familiar routine course. So, there are there is a group of suppliers and there are
group of consume the producers and consumers. All the producers no aggregate demand
for goods and their just the supply of output accordingly. This means a demand and
supply are in equilibrium at each point of time. And the production processes are such
that the economic system is producing an optimum level of output. And it is maximum
use and there is no possibility of wastage of resources. And the forms are working in a
state of competitive equilibrium. Under the stationary equilibrium situation, the prices

are equal to the average cost.
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Circular Flow Cont..:

The above stated features imply that circular flow Is used In a static setting. To make It dynamic and consistent with
development, changes must take place in flow system. These changes can be brought threugh innovations

Innovation may be defined as a change in existing production system to be Introduced by the entrepreneur with a
view to make profits and reduce costs. The innovation is closely linked with P fan concept of

Any innovation may consist of:

(a) The introduction of a new product

(b) The introduction of a new method of production

(c) The opening up of a new market

(d) The conguest of a new source of supply of raw materials or semi manufactured goods.
(&) The carrying out of the new organisation of any industry like the creation of a monapoly.

And this is the circular flow of economic activities that is taking place within this statics
settings. Now given the starting statics setting, he proposes that to make a dynamic and
consistent with development changes must take place in the flow system. Changes must
take place in this equilibrium system and these changes can be brought through
innovations. Even he is talking about innovations he is talking about different kinds of
innovations here then maybe in innovation in terms of introduction of a new product. Or
they may be introduction of a new method of production or opening up of new markets
or finding new sources of supply of raw materials and sending manufactured goods or

carrying out of new organization of an industry like the creation of a monopoly.

Definitionally inter when he was talking about innovation he basically meant that there is
a change in the existing production system, and that is to be introduced by the
entrepreneur with a view to making profits and reducing costs. So, this concept of
innovation is closely linked with Schumpeterian concept of development. He is mostly
some of the key elements here are that first. He considers the process of economic
development to be endogenous. And driven by the creation of new combinations
including new products new production methods new organization forms, new markets
new sources of raw materials and inputs. And second these combinations are carried out

by entrepreneurs who are motivated to undertake certain actions.



Thirdly the entrepreneur is a change agent here who’s actions disturb the static
equilibrium that we have just discussed before the steady state and because economic
discontinuities. And finally, there will be the emergence of credit providing institutions
such as the government that play a key role in stimulating entrepreneurial activities. In
his view it is the credit providing institutions that take risk by providing funding to
entrepreneurs. Let me repeat this system of circular flow proposed by Schumpeter once
again. So, he saying that he is giving a very key role to entrepreneurs and innovations in

creating this equilibrium within this circular flow system.

And like the neoclassical economics is also beginning his analysis with a static
equilibrium position. And the static equilibrium position is a competitive equilibrium by
the producers and the consumers are in full information about what is happening in the
market, the producers know what is the aggregate demand for goods and they have
adjusted that supply of output accordingly. Therefore, there is a demand and supply
equilibrium and each point of time. And the economic system is producing optimum
level of output and there is no wastage of resources anywhere which means that there is

full employment equilibrium in this system.

Now, given this circular flow of economic activities that is happening within this
competitive equilibrium system. If there is something that needs to make a dynamic and
consistent with development if economic development has to take place, some kind of
creative destruction must happen. And this creative destruction or these changes can be
brought through the role of innovations. And innovation have to be carried out by the
entrepreneurs is what is preposition is. And this innovation can be of various kinds, the
innovation can be in the form of a new product or new production processes. It can be
identification of new markets finding of new markets. Finding out new sources of supply

of raw materials and semi manufactured goods and so on and so forth.
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Role of the Entrepreneur:

Entrepreneur or innovater is the key figure in Schumpeter analysis of the process of development. He occupies the
cenfral place in the process be he initiates in a seciety and carries it forward.
Entrepreneurship is different from managerial activity.

As in economic system, there s high degree of risk, thus entrepreneur is motivated:
= ({a) The desire to find a private commercial kingdom
= {b) The will to conguer and prove his superiority.

= (&) The joy of crealing, gelting things done of simply of exercising one's energy and ingenuity.

And there are certain special characteristics that that this entrepreneur or innovator is
supposed to be possessing in the Schumpeterian analysis of the process of development.
The entrepreneur occupies the central place in the development process, because he
initiates development in a society and carries it forward. And he is very cautious in
telling us that entrepreneurship for entrepreneur is very different from managerial

activities of the organization.

It is not that the organization has staff and there are managerial activities being carried
out by the staff, the entrepreneur is something who is a someone here who is the risk
taker, and who is much superior than the managerial staff carrying out there every day
managerial tasks. The entrepreneur is someone who gets a lot of joy out of creating

getting things done or simply of exercising his energy and ingenuity.
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Role of the Entrepreneur Cont..:

Three things are y for the perf of the

* (&) Technical k: how should be to the er for infroducing new products and new combinations
of production factors,

= (b) Capital resource can enable the enirepreneurs to have command over factors of preduction. Fer this, he needs
purchasing power in the form of credit and capital which he can borrow from banks and other financial institutions.
Credit enables the entrepreneur to buy producer’s goods which he needs for conducting new experiments and
innovations

* {e) Role of Profits: An entrepreneur innovales o eamn profits. Profils are conceived “as a surplus over cosls: a
difference between the lotal receipts and outlay, as a function of innovation®, Profits arise due to dynamic changes
resulting from an innovation. They continue to exist till the inncvation becomes general.

And there are number of things that are necessary for the performance of this
entrepreneurial function. The one is of course, that should be proper technical know how
it should be available to the entrepreneur for introducing new products and new
combinations of factor products. Capital resource should be made available to the
entrepreneurs through the banks and other financial institutions, because credit is the one
of the factor that enables the entrepreneur to buy produces goods which he needs for

conducting of new experiments and innovations.

There is also role of profits as per as the function of the entrepreneur is concerned. He
says that an entrepreneur, why does an entrepreneur innovate the entrepreneur innovates,
because he wants to earn profits and profits are conceived as a surplus over costs here a
difference between the total receipts and outlay. So, profits arise due to the dynamic
changes resulting from an innovation. So, the static equilibrium constitutes a circular
flow and to be able to break the circular flow some amount of dynamism need to come
into the into the system into the static equilibrium model. And this dynamism can come
in by breaking the circular flow by bringing in innovations and providing a key role to

the entrepreneur.
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Breaking the Circular Flow:

* Schumpeter regards economic development as a dynamic and discontinuous process. The sociely progresses
through trade cycles, In order to break the circular flow, the innovating entrepreneurs are financed by bank credit
1. Since il it in i ion is risky, they must be paid bank interest on it.

+ Once the inr and , other p follow it in “swarm like clusters”,
Innovations in one field may induce other innovations in related fields. For example, the emergence of a motor car
industry, may in turn, stimulated a wave of new investments in the construction of highways, rubber tyres and
petroleum products etc. But the spread is never cent percent.

So, his theory of economic development basically says that, it is a dynamic economic
development itself is a dynamic and discontinuous process, and society progressive
through trade cycles. And in order to break the circular flow the innovating entrepreneurs
are financed by bank credit expansion. Schumpeter took example of the emergence of
railroads as one of the ways in which creative destruction can take place. In his
destructive Schumpeter’s destructive model was railroads, which is the key infrastructure
that had profoundly transform the world he studied. For Schumpeter railroads were not
just a source of economic development, but also a driving force in improving human
welfare. And on rail road expansion did not involve creating new technologies, but

deploying existing ones.

What did it involved it involve the leadership of groups in successfully dealing with
politicians and local interest, in the solution of problems of management and
development in the regions of the roads opened up. So, the entrepreneurial function was
performed by either individuals or groups of people, who starts for unrelated to the act of
taking financial risks. So, Schumpeter’s example of railroads has 2 important policy
implications. First is that it underscores the importance of physical infrastructure in
emerging countries. And such infrastructure and the associated institutional changes
create opportunities for entrepreneurs not only to participate in it is construction, but also

to expand opportunities for new businesses.



The second implication is that infrastructure transforms the economic system in a
discontinuous way, by not only disrupting previous economic practices, but also by
expanding opportunities for new economic combinations. In his letter writings

Schumpeter also brought in the idea of business cycle largely influenced by Keynes.
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Business Cycle or Cyclical Process:

According to Schumpeter is the business cycle. Schumpeter's approach to business cycle or ciisis is historical,
statistical and analytical. He believes that business cycle or crisis is not merely the result of economic factors but
also of non-economic factors. Schumpeter concludes that crisis is the “process by which economic life adapts itsalf
to the new economic conditions”™,

During the boom period, the new products start appearing in the market with the entrance of new entrepreneurs.
These producte displace the old ones and thus decrease their demand in the markel. Consequently, the prices of
old products fall. Ir declines and 1t starts, leading to a fall in the aggregate demand.

Uncertainty and risk increase. A wave of pessimism sweeps the entire economy and the boom period ends with the
appearance of the phase of depression.

And in however, Schumpeter approach to business cycle is historical and statistical and
analytical. He believed that it is not just economic factors that contribute to the

corporation of the business cycle or crisis, but also noneconomic factors.

And Schumpeter concluded that crisis is the process by which economic life adapt itself
to the new economic conditions. He was often making reference to economic sociology.
And he was saying that there is a lot of non-economic factors that go on to the creation
of business cycles within the economy. So, he will also talking about the boom periods
and depression periods, during the boom period, the new product start appearing in the

market with entrance of new entrepreneurs.

The old ones disappear and consequently the prices of old products fall, but at also leads
to a decline in investment and leads to unemployment. And therefore, there is a fall in
aggregate demand within the economy giving rise to uncertainty and risks. And then a
wave of pessimism sweeps the entire economy the boom periods end and the depression

phase starts.
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Business Cycle or Cyclical Process Cont..:

= Schumpeter believes in the existence of the long wave of upswings (or boom) and downswings
(or depression). Once the upswing ends, the long wave of downswing beqins and the painful
process of readjustment to the “point of previous neighbourhood of equilibrium” starts.

* The economic forces of recovery come into operation and ultimately bring about a revival. Once
again the economy comes across the equilibrium, and the new boom period starts with a new set
of innovations.

Schumpeter believed in the existence of long waves of up swings and down swings. And
once the upswing ends according to him the long wave of downswing begins and the
painful process of readjustment starts. And the economic forces of recovery come into

operation and ultimately bring about a revival.
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The Decay of Capitalism:

Due fo its drawbacks, capitalism disintegrates and yields place to socialism, Schumpeter gives the following reasons for the
disintegration of capitalism:

{a) The Of of p i
Prol. Schumpeler observes thal the success 04 tar\y caplains of indusiry have made innovalion a routine activity. 11 lends to
degenerats into a dis-personalised, routine activity carried on in a big business through highly trained managers.

. {b) Destruction of In S‘Itlﬂlﬂl\al Frame WDIR
Another factar or he af 5 the frame work. The
eniregreneur by his own -=uou\--= tancs to m stray not only his economic e laccind i mm T e e
within which he works,

+  (c) Destruction of Protecting Political Strata:
The destruction of protecting political strata will administer the last blow to capitalist system. With the progress of é}rnmnm. not only
the functions of the enfrepreneur and the Institutional frame work of capitalism crumble but the groug ihat proected early capitalism
politically is also destroyed,

Drawing from Marx Schumpeter was also talking about the end of capitalism. He

however, there is a difference between Marxian theory of end of capitalism and



Schumpeter’s analysis of the end of capitalism. Marx was basically talking about the

overthrow of capitalism by a class of proletarians.

But Schumpeter was talking about the end of capitalism because of institutional decay
within capitalism. And these are some of important points that he was trying to make,
first is the obsolescence of the entrepreneurial function. Schumpeter observed that the
success of early captains of industry have made innovation a routine activity. It tends to
degenerate into a dis personalised routine activity carried on in a business through
trained managers. Therefore, the entrepreneurial function itself decays. There may be
destruction of institutional framework, which was another factor responsible for

weakening the foundations of capitalism.

The entrepreneur by his own success may tend to destroy not only his economic and
social functions, but also the institutional framework within which he works. And
another way in which this may become possible is the destruction of protecting political
starta with the progress of capitalism not only the functions of the entrepreneur and the
institutional framework of capitalism crumble, but the group that protected early
capitalism politically is also destroyed. So, basically how do we fit Schumpeter analysis

of economic development within the larger canvas of growth and development.

In the larger canvas of growth and development we can categorize Schumpeter under the
development thinkers, who look that development as universal history. That the reason
that economic development can be analyzed in an in the in an evolutionary process. And
Schumpeter was giving a very big role to innovations and the entrepreneur. He says that
in a static equilibrium where the producers and the consumers are in a static equilibrium
where demand is equal to supply, and there is full employment of resources there is no

resource wastage taking place in the economy.

Economic development can take place only if there is constant dynamism within the
economy. And is dynamism can be provided not just by human capital formation, but by
the role played by a superhuman, a superhuman who is basically in the form of an
innovator or an entrepreneur. So, that was the important he was giving to
entrepreneurship. And there are through this formulation he was also trying to say that,
he was trying to lay he was trying to lay a lot of emphasis on the idea of human

capabilities. And government intervention or government support that should be



provided to the private entrepreneur to be able to take the risks and create discontinuity
within in within the economy by disturbing the static equilibrium and bringing about

economic development.

In his later writings he started writing about business cycles, but he was one of the
economist who was giving a lot of importance to non-economic factors that may create
business cycles. So, the and this is how we can sum up Schumpeter’s analysis of
economic development; that it is, innovations and support to innovations that can bring
about economic development within a country. However, if we look at the debate of the
development of the 1950's and the 1960's you would see that a very little attention has
been given to Schumpeter’s ideas and particularly in the context of the emerging

countries.

And the core of the rejection was basically an epistemological clash between a
Schumpeter’s systems approach to economic transformation. And that of his critics who
are dear to a more static linear and incremental view of economic change. So,
Schumpeter central themes of innovation and entrepreneurship focused on endogenous
transformation and evolution of economies; while his critics who focused on the
importance of central planning relied on equilibrium models reflected in the role of

bureaucracy as economic sources of stability.

Now, after having looked at the basic ideas of Schumpeter let us now move on to Walt
Whitman Rostow. In the last class we categorise Rostow as one of those thinkers, who
proposed classical theories of economic development, who looked at linear stages of

growth models.
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Rostow’s Theory of Growth

At the end of the Second World War (1939-45) there was a renewal of interest in the subject of development
economics and the stages of growth once again preoccupied many scholars. As a non-communist manifesto, W. W.
Rostow's stages of economic growth (1960, 1971) Is a foray Into positioning the sweep of modem economic history
under capitalism into neat and hopeful epochs

And Rostow was one of those very influential thinkers of the 1950's and 1960's, who
viewed the process of development as a sequence of historical stages. And the view
popularized and this view was largely popularized by Rostow. And he was writing after
the Second World War and he proposed his stages of growth theory as a non communist
manifesto, which is supposed to bring about a modern economic history under

capitalism.

Rostow was introducing theory of growth in 5 universal stages. And his proposition was
that, all countries will necessarily pass through these 5 stages. So, this was basic he was
building on a historical pattern of the then developed countries, and his claim was the

transition from under development would necessarily pass through these 5 stages.
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Rostow's Theory of Growth Cont..

Rostow has conceived five universal stages:

+  {i) The traditional society

= (i) The preparation for the take-off—a stage In which communities bulld up their propensities In such a way as
would be conducive to the take-off

+ (i) The period of takeoff in which the productive capacity of the community registers a distinct upward rise
= (iv) The stage of drive to maturity, the period of self-sustained growth in which the economy keeps on maving

= {v) The slage of high mass consumption.

That of the traditional society, the pre-conditions for takeoff, the period of takeoff the
drive to maturity and the age of high mass consumption. And the decisive stage is a take
off stage through which developing countries are expected to transit considering to be

considered to be necessary to induce per capita growth.

So, basically his proposition was it all and this was based upon the experiences of the
then developed countries at the time when the debate on growth and development was
taking momentum. These are necessarily the 5 stages of the countries will pass through.
And let us look at what are the characteristics of these 5 stages and let me also bring to
your attention at this point that a lot of discussion has gone on with regard to various
country categorizations that, whether they have reached the take off stage and what

happens after the take off stage.

So, there is a lot of debate and literature surrounding this idea of takeoff and weather
some countries have taken off, and if some countries took off what are the conditions
what are the pre-conditions under which they took off, and some countries are not taken
off what are the conditions under which we could not take off. So, let us now look at
some of the characteristics of each of these 5 universal stages that Rostow was talking
about. The first was he was talking about a traditional society a traditional society is not

the simplest and primitive forms of social organization.
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The Traditional Society:

= A traditional soclety Is one of the simplest and primitive forms of soclal organisation, It is one whose structure s
developed within limited production function, based on Pre-Newtonian sclence and technology and old Pre-
Newtonian attitude to the physical world.
The characteristics are:

- {a) Per Capita: Within a limited range of available lechnalogy there is a low ceiling per capila oulput

b} in Ag: Iture: A high proportion of {75% or more) are devoted in the production of

agriculttural goods. High proportion of resources are also devoted in the agricultural section.

= {c) Social Mobility: A hierarchical, hereditary, status-oriented social structure held down the mobility of society at
that time.

= (d) Political Power: The centre of gravity of political power was localistic, reglon-bound and primarily based on land
ownership.

And the major characteristics of this traditional society are the they have very low per

capita incomes is a very limited range of available technology.

And there is the ceiling on per capita output low ceiling per of per capita output. Second
important characteristic was that a very large proportion of the workforce in this society
is employed in agriculture. And they are devoted in the production of agricultural goods.
High proportion of resources are also developed in the; are also devoted to the
agricultural section. And careful look at these characteristics will tell you that most of the
so called under developed or less developed countries of the world qualified to be

categorized under this traditional society.

The third important point was with regard to social mobility. That there is very less
mobility as far as the social status of individuals with in this traditional society is
concerned. In other words, the traditional society is very hierarchical hereditary status
oriented social structure. In the Indian context you can think of cast as one of the
indicators of the hierarchy that probably Rostow is talking about. So, which means in a
traditional society it is almost impossible for people to change to 2 people to move from
one social hierarchy to another. Another characteristic of traditional society was political
power the centre of gravity of political power is localistic region bound and primarily

based on land ownership.



So, the more land ownership the more the political power. So, it is as set based land

ownership it is not very democratic in nature.
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Pre-Conditions for Take-Off:

: M . that stage of economic growth in which the progressive efements creep into the otherwise barbaric and primitive psyches of the

mbars of the socity, People try to braak free from the rigidiies of the traditional socisty and a scientific attitude—a quest for
mowleage 10 SNoft—a GUESIONING Mic-Set (S Very MUch VISIDIE In e changing face of e Society.

*  The leatures are:

+  (a) Economic Progress: Economic progress became a0 accepted social value. Al this time the change of human mind took place
and they were able to think about their respective countries

+  (b) New New types of people emerged on the society. Thelr objective was to establish a firm or industry
and rnuduo«. sutput for a long tir

+  {c) Investment: As the new enterprising persons emerged in the sociely, the gross investment raised from 5% to 10%, 5o that the
rate of growth of output outstrips the rate of population growth.

* (@) Intrastructure: As differont industies ware estabished in different paris of the counlry, aulomatically ranspodtation, more
Mmibiised communication, roads, raihways, ports were reguired. So infrastrutiure was built all over he couniry

And when the movement from the traditional society to the pre-conditions for takeoff
stage takes place, then there are certain progressive elements that must have creeped in
into this otherwise barbaric and primitive psyches of members of society. So, people are
trying to break free from the rigidities of the traditional society, and a scientific attitude
or a request for knowledge and there is a questioning mindset of people which is

emerging in a such a society.

And what are the features of such a society that is economic progress, modern education
is being imported to the people in the society. So, economic progress becomes an
accepted social value, and the change of human mind is taking place as they are able to
think about the respective countries. New enterprises are emerging the objective is to

establish a firm or industry and produce output for a long time.

Investments are taking place; new infrastructure is getting created. In other words,
modern science and technology has made for as into the so called traditional society. And
that provide the pre-condition for take-off to the next stage, which is the state that all
developing countries are supposed to live to. Apart from these characteristics the other

conditions of the pre-conditions for takeoff stage is that creation of credit institutions.
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* (e) Credit Institutions: At that time necessary credit institutions were developed in order to
mobilise savings for investment.

+ (f) Mobilisation of Work Force: Due to industrialisation a large portion of workforce was
shifted from agricultural section to the manufacturing sector. This was experienced in Great
Britain in the time of “Industrialisation (1760 onwards)",

* (g) Decline of Birth rate: At that time medical science was slowly developing. The citizens
understood the essence of control of birth rate and death rates. At first the death rate was
controlled and then the birth rate was controlled. This was the second stage of
Demographic Transition experienced by the developed countries.

* (h) Political Power: Centralised political power based on nationalism replaced the land-
based localistic or colenial power.

Sufficient credit institutions may be created; for example, the banking system the
financial system so that investment can take place within the economy. Mobilization of
work force due to industrialization a large proportion of work force can be shifted from
agriculture to the manufacturing sector. And this is something which was experienced in

Britain in the time of industrialization the post industrial period and so on.

Another characteristic is again the progress of modern science and technology that can
bring down birth rates. So, medical science is supposed to be slowly developing during
the pre-conditions to take of citizens are supposed to understand the essence of control of
birth rate and the, and bringing down death rates. At first the death rate is to be controlled
and then the birth rate is to be controlled. So, the second stage is a stage of demographic
transition which is experience by the developed countries; where population growth is
high, because both death rate and a population stabilizing because both death rates and
birth dates are declining. Also political power is centralized based on nationalism

replacing the land based localistic or colonial power.
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The Take-Off Stage:

= The take-off stage marks the transition of the society from a backward one to one that is on the verge of
freeing itself from the elements that ratard growth. In fact, it is one stage in which there is a dynamic change
in the society and there is a meteoric rise in the standards set by the members of society in all walks of life
like industry, agriculture, science and technology, medicine, etc.

Now, after the pre-conditions of our the takeoff change, the take off stage is basically it
marks the transition of the society traditional society from a backward to one which is on
the verge of freeing itself from the elements that bring down it is growth. And it is one
stage and which is a dynamic change in the society, and there is a meteoric rise in the
standard set by the members of society in industry in agriculture science and technology
medicine etcetera. And this is the path of development that was taken by the highly

industrialized nations of the world.

And for a large part of the 1950's 1960's development literature actually focused on
trying to device development policies or economic policies, that can at least bring about
the transition of the of the so called less develop countries the traditional society stage to
the stage of takeoff. So, there are certain sophisticated characteristics of the takeoff stage

as well.
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The characteristics of this stage are:

. (a: Tne Rate of Investment: Tne ﬁrst propeny of \ha slage of take-off is nothing but the rate of investment. At the
m 5% or less to over 10% of the national income. At this

1|me agm:ullural lands were acgulred I'ur |nduslr|a||sat|0n This led to a depression in the further period. For this
purpose colonialism was required for Britain. As a result they came 1o India and other colonies for business purpose
at the first time and gradually took the political power of this country

+ (b) Development of One Leading Sector: At the time of Industrial Revolution (1760 on) we saw the development
of particular secondary section of each country in Europe. In Britain we saw a large development in textile and iron
and steel indusiry. As iron and steel industry is essential for development of every country each country experienced
growth in iron and steel industry in Europe. Nowadays the development of a country is measured by per capita con-
sumption of iron and steel

. #{c] Existence of Different Frameworks in the Society: There was the existence of political, soclal and institutional
amework which expiolled Impulses 1o expansion in the modern sector and the potential external economies
affected the take-off and gave the process of growth a sus and

First is the rate of investment. The take off stage should have very high rates of

investment. For this purpose, and for example, in India after the attainment of
independence rate of investment was increased in the economy by carrying out the policy

of industrialization.

Then the second characteristic is development of one leading sector. And invariably the
in the take off stage the sector which receives the largest investment is the industrial
sector and existence of different frameworks in the society. So, there is existence of
political social and institutional framework; which exploit impulse is to expansion in the
modern sector, and the potential external economies affect the takeoff and gave the

process of growth a sustained and cumulative character.
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Tha Dby b Waturfry:

*  Mauirity in the conted of Rostow's theory refers o that state of econonily and the society as &
whole, when winning on all fronts hecomes & hablt or an addiclion Each and every effort fo
stimedate the econonty miets wilh success and the fime period whan the saclety tastas suscess fs
A father long nne and the PIOGress made on ai front s Mefe io stay

The economse: charactars of this stoge are:
= {a) Shifl in e Occupetional Distribulton: As due 1o Industrial Ravolution many Industries were
established in Britaln =nd the countres of. Western Europs, the wodk force was stiifled from

gy augtor 16 the ing wactor, The propostion of the wirkirig farce engaged in the
agnciieal sector wer Gown 1o 20% of less.

* {b) Shift in the Consumption Pattern: A now type of workfoete was croatad which was tormad
White-collar workers. They Wwere mainly oMcals or managing omeials af a fackyy s goveming
body, Due 1o high Income theil preferences were shified o luxury goods. At & fesdl (e
[ ttem of i al Qoods noreased, This led 10 devatopment of the existing
wadusiries and sleo variation in tastes and prefersnces ook place mors 1apidly In this period

* {c) Bhitt in the Consumption of Leading Sector: The change in composilion was obsenved ta
vary fram coundry o country The Swedish take-off was inflated b timber sxpors wiad pulp s
pumtnboard products followsd by the emergoncs of misways, hydiopower veel, and animal
husbandry and dairy products. The Russian kke-of started wiii grain gxpods. foliowsd by
redhwaays, ifon el stesl, coal e sngmesTing

The 4th stage is the stage of drive to maturity..

Maturity in the context of Rostows theory basically means that a society is advancing on
all fronts. And each and every effort to stimulate the economy meets with success, and
the time period when a society takes success is a rather long one and progress made on
all friends is there to stay. That is the certain economic characters of this stage, one is
there is a shift in occupational distribution. For example, due to industrial revolution
many industries were established in Britain and invest in European countries the
workforce shifted from agricultural to the manufacturing sector. This drive to maturity is
when where the shift from agriculture to the manufacturing sector is taking place or has

taken place to a very large extent.

And this is something which is being seen which was claimed was being seen in the
context of many so called underdeveloped countries in the 1970’s in the 1980's when the
boost to industrialization was taking place. The second economic character of this drive
to maturity there is a shift in consumption pattern. A new type of work force gets created
that are termed as white collar workers, and they are mainly officials a managing
officials of factories governing body. They due to high income the preferences also shifts
to necessary from necessary to luxury goods they consuming more of comfort and luxury

goods.



As a result, the consumption pattern of non-agricultural goods also increase and this lead
to development of existing industries, and variation and tastes and preferences taking
place more rapidly in this period this also a shift in consumption of the leading sector the
change in composition was observed from to vary from country. To country other for
example, the Swedish takeoff was initiated by timber exports wood pulp and paste board
products followed by the emergence of railways hydropower steel and animal husbandry

and dairy products.

So, different countries may face may experience different kinds of development in this
drive to maturity. That has to be one leading sector which takes the country, which move

the country towards economic development.
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The non-economic factors of "The Drive to Maturity™ are:

+ (a) Entrepreneurial Leadership: In the stage of drive to maturity the change in the entrepreneurial leadership took
place. Cotton-steel-rallway-oll barons gave way to the managerial bureaucracy.

+ {b) Boredom: Certain boredom with indusirialisation gave rise to social protest against the costs of industrialisation

There are certain non-economic factors of the drive to maturity there are certain non-
economic factors of the drive to maturity which were also identified by Rostow. One is
entrepreneurial leadership which is one of the important drivers of this stage in drive to
maturity. And the final stage of Rostow stages of growth was the very high stage of mass
consumption where people are consuming mass it is a consumerist society and that is

very high consumption of a consumer goods and services and so on.

Now, there is a lot of critique of the stages of grow theory, and I will like to pinpoint one
of the criticism that has been dealt with very severely in the 1990's and the 2000;
particularly is that, the stages of growth that was proposed propounded by Rostow has



not been uniform in the so called developing countries of the world. Even today we see
the coexistence of the traditional and the modern sector. And this is something which is
also the criticism that was put forward as a challenge to Louis model of dual sector of

agriculture industry.

So, there is a lot of so, there is a coexistence of the traditional and the modern sector. So,
that take off to the high stage of growth weather is only consumption of high
consumption of goods and services are highly consumerist society has actually not taken
place in many of the and developing countries of the world. Although as per as the highly
industrialized nations of the world a consent for example, Japan some of it may prove to
be true. Therefore, the Rostow’s stages of economic growth model lost it is appeal

among many economist particularly in the post 1980's and 1990's period.

Now, having given you a brief overview of what are the basic characteristics of
Schumpeter and Rostows growth theories or theories of economic development. Let me
run you through some of the very, very basic concepts which you one needs to know how
to be able to have a good grasp over the growth models. In the last lecture I use the term
referred to as multiplier and accelerator while I was discussing Hirschman’s thesis of

unbalanced growth.
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Some basic Concepts

Multiplier (Keynesian Multiplier):

The theory of multiplier cccupies an important place in the modemn theary of income and employment. The concept of

lier was first of all ped by F.A. Kahn in the early 1930s. But Keynes later further refined it. Keynes' multiplier
Is known as investment or income multiplier. The essence of multiplier is that total increase in income, output or
employment is manifold the original increase in investment.

The multiplier is the rafio of increment in income to the increment in investment. If Al stands for increment in investment
and AY stands for the resultant increase in income, then multiplier is equal to the ratio of increment in income (AY) to
the increment in investment (Al).

Therefore: k = aYial, where k stands for multiplier.



Now let me very briefly introduced to you what is a multiplier. So, in economics when
we are dealing with growth models or macroeconomic aggregates we are referring to the

Keynesian multiplier.

This is a concept which was worked done by Keynes, it was popularized by Keynes it
was first developed by an economist called F A Khan in the early 1930's. But Keynes
refined it and it basically means it is multiplied use is usually shown in the form of a
ratio. And this is basically a ratio of change in income to change in investment. So, k is
equal to delta Y by delta I. Here delta I stand for increment in investment and delta Y
stands for the resultant increase in income. And multiplied is basically the ratio of

increment in income to the increment in investment.

So, whenever there is an investment taking place in the economy, what is the rate at
which income changes, and what are the forces that increases this income is what is
captured by the multiplier. If as a result of for example, if as a result of investment of
rupees 100 crores national income increases by rupees 300 crores in the multiplier is
equal to 3. If as a result of investment of rupees 100 crores total national income

increases by rupees 400 crores multiplier is 4.

So, the multiplier is therefore, the ratio of increment in income to increment in
investment. And delta I stand for increment in investment and delta Y stands for
increment in income. The question is why the increase in income is many times more
than the initial increase in investment. Suppose government undertaker investment
expenditure equal to rupees 100 crores on say some public works construction of rural
roads. For this government will pay wages to the laborers engaged, prices for the
materials to the suppliers, and remunerations to other factors who make contribution to

the work of road building.

So, the total cost will amount rupees 100 crores. And this will increase incomes of people
equal to rupees 100 crores, but this is not all. The people who receive 100 crores will
spend a good part of (Refer Time: 43:50) consumer goods. Therefore, some marginal
propensity to consume of the people will increase, and this 100 crores they will spend, let
us say of this 100 crores they will spend rupees 80 crores and consumer goods; which

would increase incomes of these people who supply consumer goods equal to rupees 80



crores. And with a every additional increase in income there will be progressive less is a

part of the income received to be saved.

Thus, income will not increase will increase by only rupees 100 crores, which was
initially invested in the construction of roads, but by many more times. So, the concept
of multiplier is very important in macroeconomic understanding of growth, and how
growth take place within the economy. Corresponding to the multiplier there is a concept

of accelerator.
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Accelerator:

The multiplier and the accelerator are not rivals, they are parallel concepts. While multiplier shows the effect of changes
in investment on changes in income (and employment), the accelerator shows the effect of a change in consumption on
private investment.

The Principle of Acceleration states that if the demand for consumption goods rises, there will be an increase in the
demand for the equipment, say machines, which produce these goods. But the demand for the machines will increase
at a faster rate than the increase in demand for the product

The accelerator measures the changes in investment goods industries as a result of long-term changes in demand in
consumption goods industries.

The accelerator basically measures the changes in investment goods industry as a result
of long term changes in demand in consumption goods industries. So, the principle of
acceleration states that if the demand for consumption goods rises, there will be an

increase in the demand for equipment machines which produce these goods.

But the demand for machines will increase at a faster rate, then the increase in demand
for the product. The principle of acceleration enables us to understand the process of
income generation more clearly. A certain level of income could be attained by
multiplayer action alone. But along with accelerator the process of income propagation is
speeded up. So, for example, in the last class, when I was referring to Hirschman’s thesis
of creating excess capacity within the economy by investing in social overhead capital
and the equal external economies arising out of the social overhead capital being

appropriated by the private entities to be able to enter into directly productive activities



we are referring to the accelerator principle here. Where the principle of acceleration
creates a a situation in the economy where the private entities can take advantage of the

external economies created out of the creation of social overhead capital.
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The accelerator is of a functional relationship between the demand for consumption goods and the demand for
machines which make them. The acceleration coefficient is the ratio between induced investments to a given net
change in consumption expenditures:

v =Al/aC
Symbolically where v stands for acceleration coefficient; Al denotes the net changes in investment outlays; and AC
denotes the net change in consumption outlays.
Accelerator depends primarily upon two factors:

(i) The capital-output ratic
{ii) The durability of the capilal equipment

You can also look at accelerator as a functional relationship between the demand for
consumption goods and demand for machines which make them. And usually the capital
the acceleration coefficient nu is equal to the change in investment to the change in
consumption expenditure. And it primarily depends upon 2 factors the capital output

ratio and the durability of the capital equipment.
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Capital Output ratio/ Incremental Capital- Output Ratio:
The icremental capital output ratio (ICOR) is a metnc thal assesses the marginal amount of investment capital

necessary for an entity to generate the next unit of production. Overall, a higher ICOR value is not preferred because it
indicates that the entity's production Is inefficlent.

G=slv
where g is the growth rate and s the savings ratio and v the incremental capital-cutput ratio (ICOR), the lower the v the
higher the g.

The capital-output ratio is often used as an investment criterion and plays a key role in the Harrod-Domar model

Let us also very briefly looked look at what is capital output ratio and incremental capital
output ratio. For example, if I put you a question that rate of economic growth falling in
India. And one of explanations you would give is that the savings rate in the country is

falling, and lower the savings and investment rate it will lead to overgrowth.

Now so, economic growth in any country among other things is the function of the level
of savings and the rate of investment. And any additional investment required to increase
output is termed as the incremental capital output ratio. So, it is basically a metric that
assesses marginal amount of investment capital necessary for an entity to generate the
next unit of production. So, for example, if a 10 percent additional capital is required to
push the overall output by 1 percent, the I ¢ r will the ICOR or the incremental capital
output ratio will be 10. Lower the ICOR the better it is, [COR reflects how efficiently
capital is being used to generate additional output. So, a country with ICOR of 3 is better
than a country with ICOR of 5.

So, you can look at it so, the growth rate and the savings ratio and the incremental capital
output ratio; if G is equal to S by V is the mathematical relationship between growth,
rate, savings rate and the incremental capital output ratio. This concept of capital output
ratio, I will enter into I will discuss again when we are discussing the Harrod Domar
model in the next classes. The capital output ratio is often used as an investment criterion

and it plays a very key role in the Harrod Domar model of growth. Let us also briefly



look at the savings and investment relationship that I have also spoken about in the last

class.
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Saving and Investment Relationship:
In a two-sector model, equilibrium oceurs when income received equals aggregated desired expenditures (ie, Y =C +
1). An alternative way of describing how national Income s determined Is to focus on saving and Investmant.

As aggregate output and income are always equal and consumption is identical in both places, the rest of the equation
must also be equal

Y=C+land
Q=GNP=C+Sand
Y=0,
C+S=C+lor
5=
In Keynes' simple 2-sector demand-determined model individuals ean either spend their income today or save it, to
consume later

For the benefit of most of you, let us first begin with a 2 sector model. We are assuming
here that equilibrium occurs when income received equals aggregate desired

expenditures.

So, one of the first identities that we have working out is income is nothing but a
summation of consumption expenditures, plus investment expenditures. So, Y is equal to
C plus I. Now if you recall the national income identities that we had briefly looked in
the first lecture of this course, I had said that you know GNP or GDP can be calculated
by the income method and the product method. So, when we looking at GNP it could
mean income or it could mean product. So, in the as aggregate output and income are
always equal and consumption is identical in both places, the rest of the equation must

also be equal.

So, if Y is equal to C plus I which is income is equal to consumption plus investment.
And Q are output which is the gross national product is nothing but the summation of
consumption and savings. And if Y is equal to Q then C plus S is equal to C plus I. So, in
the ultimate identity in a 2 sector model without international trade we consider savings
to be equal to investment. So, whatever is getting leaked out of the system is getting

injected back into the system in the form of investments.
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Nation's Expenditures
Consumption
Investment

Govemment Spending

Net Exparts

So, basically GDP comprises of consumption investment government spending and net
exports. C plus I plus G plus X n or X minus m you may consider both which is basically
exports minus imports the net of exports; that is a total GDP that gives out the total

output or total income within the economy.
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= Cis the largest sector of GDP
+* Cis just over two-thirds of GDP
* The consumption functions stales
— As Income rlses, consumption (C) rises, but not as quickly

— Therefore, consumption varies with disposable income (DI)

And C is the largest sector of GDP. So, consumption is mostly the largest sector of a
country. And consumption function states that as income rises, consumption usually we

can also referred to when we say consumption function we are basically seeing that



consumption as a function of income. So, if income rises by how much consumption
rises. And although it there is a linear relationship between consumption and income as

income rises consumption rises, but not as quickly

So, similarly consumption also varies with disposable income which is basically income
total income minus the taxes. I will end this lecture with 2 more basic concepts that we
use which is, one is, the concept of average propensity to consume and the concept of

average propensity to save.
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Two Ways To View Consumption-Income Relationship

1. As the ratio of total consumption to total disposable income.
2. Az the of in to in income.

= The average propensity to consume (APC) is total consumption in a given period
divided by total disposable income.

APC = Total consumption _ C
Total disposable income Yo
Total saving _S

" Total disposable income " Yo

So, there are 2 ways to view the consumption income relationship. One is as the ratio of
total consumption to total disposable income. And the second is as a relationship of
changes in consumption to changes in disposable income. Average propensity to
consume is basically the total consumption divided by the total disposable income. And

average propensity to save is total savings divided by the total disposable income.
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Marginal Propensity
to Consume (MPC)

CHANGE in Consumption

MPC =
CHANGE  in Income

Similarly, the concept of marginal propensity to consume which is looking at a ratio of
change in consumption to change in income. With regard to investment there are 2

important concepts which needs to be kept in mind.
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Investment

The level of income, output and employment in 8n economy depends upon effective demand, which in turn, depends
upon expenditures on cor ion goods and | goods (Y = C + ).

Types of Investment:

= Autonomous investment is not sensitive to changes in income. In other words, It is independent of income changes
and is not guided or induced by profit motive only. Autonomeous investments are made primarily by the Government
and are not based on considerations of profit.

* Induced mvestment is that investment which changes with a change in income, thal is why it is called income,
elastic. In a free enterprise economy, s are induced by profit motive. Such investment is very
responsive to changes in income, |.e., induced investment increases as income increases,

One is autonomous investment and the second is induced investment. Autonomous
investment is not sensitive to changes in income. In other words, it is independent of
income changes and is not guided or induced by profit motive only. And autonomous

investments are primarily made by the government and are not based on considerations



of profit. And induced investment is that investment which changes with the change in
income and that is why it is called income elastic. In a free enterprise capitalist economy
investments are induced by profit motive. And such investment is very responsive to

changes in income that is induced investment increases as income increases.

So, to end today’s lecture; in today’s lecture, we looked at 2 important strategies of
economic development one proposed by professor Joseph Schumpeter and the other by
W W Rostow. Schumpeter’s strategy of development can be categorized under the
development thoughts are characterized as universal history, where economic history is
considered to be is taken as one of the pillars in which the economic development
strategies can be analyzed. Schumpeter provided a big role to innovation and
entrepreneurship in creating discontinuity within the circular flow of static equilibrium
system, such that economic development can take place. Rostow was focusing on a 5
stages of economic growth. Again based upon Rostow was considered to be a
structuralist he was proposing a structural model, where based upon the example of the
highly industrialized nations of the world. His proposition was that all countries

necessarily need to pass these 5 stages of economic growth.

However, these; however, Rostows proposition has also faced various criticisms
particularly in the 90's and in the year 1980's and the 90 and the 2000’s. Because the
experience of the developing countries have told us that have shown us that the
traditional sector and the modern sector coexist, and the take off stage has never really

been reached by the developing countries of the world.

In the next class, we will look at taking off from the balanced and unbalanced growth
model. And Rostow’s and Schumpeter’s ideas on economic development, we will look at
the big push theory what were the basic what were the major concerns of the big push
theory at, what were what were the major proposed proposals made by the big push
theory. And we will also look at the critical minimum efforts thesis as proposed by

professor Leibenstein.

Thank you.



